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Answer the following questions : 1x7=7

(a)

(b)

(c)

(d)

- - 8 S

Who established the ‘germ theory’ of
disease?

Name the first fungicide which was used
in the control of fungal disease of plant.

What is the causal organism of ‘white

‘rust of crucifer’?

In one fungal disease of wheat crop; the
phenomenon of heteroecism is observed.
What is the name of the disease?
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(2) (3)

(e) Xanthomonas citri is responsible for 3. Write brief notes on/Answer any three of the
causing a serious disease of lemon tree. following : 5x3=15
Name the disease. ;

(a) Chemical weapons of plant pathogens

; 4 for establishing pathogenesis
(f) Phycobiont is an important component 2

of lichen. What is the other component? (b) What are the elements of a plant disease
. epidemic?
Writ i
@ rite the name of a reindeer moss. (c) Preexisting defense structures of plants -

(d) Biological control of plant disease
2. Answer the following questions : 2x4=8

4. Write an account on the dissemination and

(@) What is the causal organism of leaf
SRt transmission of fungal diseases of plants. 10

disease of cabbage? Draw the structure

of the reproductive body of the causal

organism. S. Write notes on the following : 5x2=10

L : a) Yellow mosaic of bhindi

(b) Distinguish facultative parasite from ®
obligate parasite,
from each of them.

Give one examtle: (b) Leaf rust or orange rust of wheat

6. Write a note on the types of plant resistance

(¢) Draw a schematic labe to pathogens. - 10

evelopment of a Or

Write an account on the classification of

i lichen. 10
(d) What is meant by ‘blight’ e A ichen
example of a diseage which is showsi
bhght Symptom in ST ng
mportant * Kk %k
crop plant.
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Choeose and write the correct answer/Fill in
the blank 1x7=7
(@) Chiasma formation occurs at

) zygotene ;

(i7) pachytene

(i) diplotene

(iv) diakinesis stage of meiosis

(b) The ratio of dihybrid cross is
() 9. izl
(i) 3%l
) 1531
()" 12 PR
\16/223 ' ( Turn Over )



()

(@)

(e)

(9
Al6/223

(2)

A cross made between F, hybrid and
any of its parents is

(i) backcross

(i) monohybrid cross
(@) dihybrid cross
(iv) reciprocal cross

A female whose father was color-blind
marries- a normal male whose father
was also color-blind. What is the % of

probability that their son will be
color-blind?

() O (i) 25
(i) 50 i) 75

pattern of inheritance?

() Y-linked dominant gene
(ij) Y-linked recessive gene
(i) X-linked recessive gene
(tv) X-linked dominant gene

Which of the following shows criss-cross

Which of the following is not true of a
maternal effect genep

(1) It is located in the nuclear DNA

() Maternal genotype affects offspring
phenotype

(@) It may control
material into oocyte

fiv) It must pe
X-chromosome

deposition of
s

located on the

The formula for arithmetic mean is —,

( Continued )

‘(3l

2. Answer the following questions : 2x4=8

(@) What is test of significance?

(b) Write the principle of Hardy-Weinberg
law.

(c) Define standard deviation.

(d) Write the importance of male sterility in
plant breeding. .

hree of the following questions :
3. Answer any thr i

fa) Describe the significance of backcross.
How does it differ from testcross?

(b) Explain how Mendel’s dihybr.id ratio
would be converted into (1) 9:7,
(@) 12:: 3 1, and (@jELs ..

() Explain the different types of
emasculation method.

(d) Write the evolutionary significance of
chromosomal aberration.

4. (a) What is meant by t-test of significance?
With a suitable example, discuss its uses
and application in biological science. 10

Or

Discuss the application of statistics in

10
‘biological sciences.

.
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(4)

(b) What is euploidy? Describe the different
types of euploid and state one reason of
its origin. 10

w

Or

What do you mean by cytoplasmic
inheritance? Point out the differences
between cytoplasmic and nuclear
inheritances. Giving suitable examples,
discuss the role of chloroplasts in
cytoplasmic inheritance, T (0

() Define the term ‘hybridization’ and
mention the condition under which
hybridization is essential. Mention the
objectives of hybridization and Write
on the different steps of hybridization
procedure. ' 10

Or

Write explanatory notes on the following :
S5x2=10
(i) Heterosis breeding

() Concept of different types of
selection

* K Ak
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